Algebra 2 Quiz 1.3-1.4 Review

Solve the ;zquation.

1. 6(x—08)-02(5x-4) =6

Solve the equation or formula for the indicated variable.

2. = %, for U

3. ax-bx=2a, forx

4 S=2xrh

Solve the inequality. Graph the solution set. State the interval notation.

5 2+2k<8
6. —3k+4>1

7. 4(3b-5)<-31+12b
8. 14+8b>4(2b+2)

Solve the compound inequality. Graph the solution set. State the interval notation.

9. Tx+12=2-l6and3x—-4<5
10. 10x—1<—4lord4x+5>1

I1.  The sides of a rectangle are in a ratio of 5:3. The perimeter is 32 cm. Find the lengths of the sides.



